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Unit 3 Lesson 7
DO NOW: Solve the systems of equations graphically.
A
12y -4x =12 I /{q]‘
“3y+4x=6
["d =132 —3Y+HUX=GC . e
SN "t‘LPY\ —HX 3 mHx =HY e ; Sl e
B Y e =7 7 Caas o2 a=amma.
A9 = 4%+13 =T Z R A
2 X\ - P
5 = 4 X = > f%\
\;5 — l\'( _)F l :..=> //ﬂl -
R
=55 o= [Selvron C&?ﬂ
o =\

1. Solve the systems of equations algebrajcally.
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2. What is the solution of the system of equations below?
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3. Solve the systems of equations algebraically.
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4. What is the solution of the system of equations below?
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PRACTICE PROBLEMS

5. What is the solution of the system of equations below?
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6. What is the value of the y-coordinate/of the solution to the system of equations 2x+y =8 and x~ 3y = -3?
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7. What is the{value of 4 iin the following system of equations?
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